4 BHEX

9:00

9:30

950

10:30

1040

11:40

13:00

1350
1355

14:10

1420
1425

14:40

15.00

gy
=550
B | XN | XK | K e 1410 [ 11:40 "R
HELE - BiLGE) BELEE | BRES
(BBZ - Bt - {EE) SIED) | BXE
iD= $Bns | Boa
1525 15 R&E | 15 R&E —me sy R O .
20 R FTH/EM | 2035 280 38| B&E | o= 55
3F 288 IF BE| IF  HE ;
I NGG=IE| AHIFR || KA 15T
1&%5: 1&%% o/ M/ =4033 E%I;ﬁ
2% : i 2% | B B |AEE7 | euEw
S = fEx S i B 1’8 PEE | mooa
= N R N
He4E - B10,58) BEEE
(BE=EE - BE - FUT - @E= - 5t - 50 - ) | BiL5E)
13:00
1$ = P—'S = 12255 : ?’E EASE S
(=2 (=2 BB | 120
T L BELE |
BELT BELT E%gg
g\_L/E@J g\_L/E@J $5§ ™ = 14:10
W%i%ﬁ B D= W&’jﬁ%ﬁ RO D= ng%;aﬁ
BEEE : BEEE : BEEE
BEYEEN 14:30 BYEEN 14:30 BYEEN
BODE BODOE BODE

mt
N

9:00

9:30

950

10:30
1040

11:40



